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13 Here is a list of  numbers.

21 24 33 63 67 74

13 (a) Use numbers from the list to answer the following questions.

13 (a) (i) Which two numbers add up to 100?

............................................................................................................................................

Answer ................................. and ................................... (1 mark)

13 (a) (ii) Which two numbers have a difference of  50?

............................................................................................................................................

Answer ................................. and ................................... (1 mark)

13 (a) (iii) Which number is 25% of  84?

............................................................................................................................................

Answer ............................................................................. (2 marks)

13 (b) Two more numbers are put in the list.
The sum of  the numbers in the list is now 400.

What two numbers could they be?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ................................. and ................................... (3 marks)

3

Answer all questions in the spaces provided.

7
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14 Here is a grid showing points A and B joined by a line.

14 (a) Write down the coordinates of  A.

Answer ( .................... , ..................... ) (1 mark)

14 (b) C is the point two squares directly above the midpoint of  AB.

Mark the point C with a cross.
(2 marks)

15 Work out         274 × 31

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ............................................................................. (3 marks)

4

(04)

1

0

2

3

4

5

6

y

0 1 2 3 4 5 6 7 8 9 x

A B
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*16 50 men and 90 women work in a factory.

– of  the men in the factory wear glasses.

10% of  the women in the factory wear glasses.

Khalid says,  “In the factory, more than twice as many men as women wear glasses.”

Is he correct?
You must show your working.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(4 marks)

17 (a) Which of  these is a whole number?

Circle the correct answer.

√8 √10 √50 √81 √125
(1 mark)

17 (b) Show that     25 = 52 + 2 + 5

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

5

Turn over �

(05)

13
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18 In a game, the arrow on a spinner is spun twice.
The numbers the arrow lands on are added to give the score.

18 (a) This fair spinner is used to play the game.

18 (a) (i) Complete the table of  possible scores.

First spin

Second
spin

(1 mark)

18 (a) (ii) What is the probability that the score is an odd number?

..............................................................................................................................................

Answer ............................................................................. (1 mark)

6

(06)

3 6

7

+ 3 6 7

3 6

6

7
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18 (b) A different fair spinner is used to play the same game.
The spinner is spun twice.

Put numbers on the spinner so that

the lowest possible score is 2

the probability of  a score of  4 is –

the highest possible score is a single-digit number.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

7

Turn over �
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19 You are given that

Use this to change 9 pounds into kilograms.
Give your answer as a mixed number.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ........................................................................ kg (3 marks)

20 A bottle of  juice fills either 12 small glasses or 9 large glasses.

Four small glasses are filled from the bottle.

How many large glasses can be filled from the rest of  the bottle?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ............................................................................. (2 marks)

8

(08)

1 pound = –– kg5
11

Juice
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21 (a) Solve         7w = 35

............................................................................................................................................

w = ................................................................................... (1 mark)

21 (b) Solve         4y – 11 = 17

............................................................................................................................................

............................................................................................................................................

y = .................................................................................... (2 marks)

21 (c) x = 5     is the solution to the equation     a (x – 3) = 4x – b

a and b are integers.

Work out two possible pairs of  values for a and b.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

a = ..................................... b = .....................................

a = ..................................... b = ..................................... (3 marks)

Turn over for the next question

(09)

9

Turn over �
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22 A six-sided dice is numbered 1 to 6.
Gary, Lynn and Michael want to know if  the dice is fair.

22 (a) Gary rolls the dice 200 times.
Here are his results.
The relative frequency for 1 is missing.

How many times did Gary roll the number 1?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ............................................................................. (3 marks)

22 (b) Lynn says

Is she correct?
Tick the correct box.

Yes No

Give a reason for your answer.

............................................................................................................................................

............................................................................................................................................
(1 mark)

(10)

10

Number rolled 1 2 3 4 5 6

Relative frequency 0.15 0.1 0.1 0.3 0.15

If  I roll the dice 200 times I am certain to get
the same results as Gary.
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22 (c) Michael also rolls the dice 200 times.

He says to Gary

Is he correct?
Tick the correct box.

Yes No

Give a reason for your answer.

............................................................................................................................................

............................................................................................................................................
(1 mark)

END  OF  SECTION  B

(11)

11

To see if  the dice is fair it will be better
if  we put our results together.

5
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